N
3
5

55| 42 3B 7 15p B iR

L tABEREL T

1 E ) dR|EARA S ESY R IR

W% B ke

# 5 20642-05-08

!
3
e
o
B
(i)
&

CEAE = ’ i@, o
- P ta W 5
K ¥ % 4
SN 10%< 20 35 407 45 TEU 3+ 105< | 20% | 35% | 40 45 TEU
-~ PR Mook
A
7
=
“‘3 21
@ :
it =
T #r FiELE LR M & SESE &£ 0 p Gl
A PR A R

R CERL TS P L B LR VRS
BARP D AR G- A2 IR E AT A 1 e




R%R Aer W% F IR alnm

S AP FRZH R AL R R L REF AR ATR LT [ B AL F 0 AR

CSBPRERF RN E 1P R EF SR ERENY 1P 212 R2FF AR
=~ AR
(=D F1F#A C 3 L A A 107~ 2098 ~ 355 ~ 407 ~ 45 T £ -

'

ERTTIST RUT TNy
(28 %) i LAl Ao
(E)E;ﬁi{?% : ]E%q" (e WK%?;%‘%’;Tl B i‘%@ﬁﬂ!)‘% rév\tx\F'Z\J A&\F’

T~ SEE P TR

\m

(- )iEer [ mpHrane o § 35 ko R TRRE B HIR ) p105E AziedR T RS IR
(Z)F I LW TP EF PP F
EDES RN NS & S
(2 OTEUGHT £ 207 7 1) & 431 7 1545 £ 200 {42 e » 458 2 5840 1101 =0, 5TEU » 20< 1 i =1TEU -
40+ 116 =2TEU » 45+ 1 & =2. 25TEU » 1% =0, 30482
CFHREEE REleR
(COEBEFDT LA 2T REMIiBirFer FH ier gl 2 fHGEFREZSY
(Z)A2F g3kt # A2 PRI AP THAFAL 2B L

A BHERE AR SEE - N2 I ERIE A A IR e



